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=M (comment)

/* SN £ BS Hatsts ZRIW +f
—r#TChrde sstdio e —— === == === <!

int main(void)
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€ Standard comment at each source code file produced in this course
/**
* File Name: "???.c" or "xxx.h", or "yyy.cpp"
* Description:
* -This programis......

*

* Programmed by Gil-Dong Hong (November 15, 2009),
* Last updated: Version 2.0, September 1, 2012 (by Young-Chul Kim).

* Name YYYY/MM/DD Version Remarks
* Gil-Dong Hong 2009/11/15 v1.0 1:1 Chatting on UDP socket, 2 threads
* John Doe 2010/05/01 vi.1 User interface has been updated with GUI

Young-Chul Kim 2012/09/01 v2.0 Major change in the program structure
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£0{22 7| (indentation)

¢ =02 7|(indentation): &2
2F 20AM R X AL2E S0

HZEL HolMd ondz 7
Mo gLt
#include <stdio.h> /
int main(void)
{
int X; // xﬂijlH HAZE NAS HA Zz_149 kg FHO
inty; /] SHI HA2 REE B4 = R
22 U ®efoll 2int sum; /] = x**ﬁl g2 M&EGl= BN
“7% Bor T
return 0;
}
@;\ Hstel B2 sa 28
o AAT UESZ el A 1-28
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#include <stdio.h>

Int main(void) { int x; Iint y; int sum;
x = 100; y = 200; sum = X + Y,
printf("5=2] gt: %d", sum); return O;

}
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XX 2| 7| (preprocessor)

#include <stdio.h>

& #7|SE AE

¢ 8|0 It stdio.hE 2A A E Qtoj| =gt
& stdio.h= BX =20 st 2fo|22{2| st4=9]

89|17} 501 UL},

@ HHIEH HIESZ o_m/\ 1-30 Z2I2010f - B+ HAE



HHAE| 7]

/* AT L2 )2 */ — <
/// stdio.h \
L e e - |nt printf(char *,...);
(#include <stdio.h> _
Int main(void) M N
{
printf("Hello World!"); stdio.h
return O;
}
hello.c
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st== (function)
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Bt
& A S 2SI A (statement) S SH4 OHoj
=0{7}0F &
int main(void)
{
{ . (HYQ NNBE 2% |
}

@\ el = u%ﬁgg
AT HIESZ 21 1-35
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= (function call)

104
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110

H,H_Ei\

R

okt o o _I

NN

e o I8

K- KT K
op op) o




=

I

1

)C T30l e B4 FoIM 71 UK AYE|=

HS? =
A) main() &=0|Ct. CIE &=r=2 main)L 22 H &2HE
NOoZ S=& l].

input() ! !

N

process(f—
outputly

[

> Ustd d2sdssth
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X} (statement)

¢ St= 02| 7o 2o 2 0|F0{ZILCt.
¢ 2YSS 2AKoR M
¢ A ET2; (MojEE)e=z
I
=& 1
B 2
25 3
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> Joh

HH =~ (variable)

intx; // YN E

inty; //SYM &
/1 & B2 &2 N&Eot= H=a

int sum; = a5
Q) Hagt 22401012
A) D200l AHB5H=GI0IEE LAIRC2 NEE SHOZ A
ol= HR2el =22t

240N - D+ 2
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int X Zj
X
A2 % [ #4002 |

o HZ0l= HIOIEHS =F0 etk 6def JHXl EF 0] = XHSHCE:
e char (2X})
e int (=)

e double (&=, 8=42=#, double precision floating point)
? ii23 456i
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i

Kt(identifier): H==L1E &2 0| S
ANE BtE= 13

= - —
HAHs YOjo| LhARR}, AL UE 22X _2 0| R0fZICH
HRF= 2XF2 A|RHE 4 QiC.
H= Xt =AFE TEotH C A0 7[R EL £&E 2 0|F=2
25 C}.
o

PN
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Al

'* '* IlIEE [lIE

Al
®
®
®

Ralfie
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& AR Ol

® s, s, student_number: SHIE Al EHX}
® 3$s, 2nd_student, int: &5 =l Al HX}
77 12 23.456
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X2 (data type)

& X} 23 (data type): H47} X EE HO|E{7} HAQIX]

2UX|, ofL|H I ChE o Gjo]E{IX| E X|’F5t= A

r N =e: |

—

5 e | A = R+

short, Tloat, | char
1nt, double,
Tong Tong double
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intx: 1 //7 XYM HLAE HERSI= B
. I =
inty; 1 // S8M =8 N&ol= B=
. i = o =1
intsum;1// 5 &8=x2 &= H&Eol= Y=
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Al (Constant)
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=4l (expression)

sum = X +y;

& Al (expression): I H AKX} (operand) oF H ALK}
(operator) 2 /4=l Al
& A2 AWZE 7H7IL

Int x,y,;

X =3;
Yy=X*X-5*X+6;
printf(* %d\n”, y);
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i - X-y X-y

A ' Xy d
L=l / Xy x/ly

LHH K| % %y X mod y

@‘\Ewﬂ desi2)
LHICH HIERI2 o1

TZZJcfe 0] -

i

A
=

2/
=

g

EF
g



sum = X +y;
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HQ) 1k

[
x = 100;
& [ HA(assignment operation): H=0 22
X&st= dat
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oI5y
#include <stdio.h>

int main(void)

{

int x;

el

inty;
int sum;

x = 100

y = 200;

SUm = X + V;

printf("==2l & %d", sum);

return 0;
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printf()

® printf(): BLIE{0] g 8}7| St BE &3
2to| B 2{2| &4

20
@ «—|scanf() | «— \ < .-
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=XAE &9

printf("Hello World!\n");

4 —;._—IIfOE"(string): “Hello World!'Wn”e} Zo| 2XI&52 o] 7§ Lt Hst

A

Hello World!

printf()
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& " XWX printfQ0 A ZtS SHos A
x| L.
=R ol AlSH 24 7)
%d 108 =2 == printf(“%d \n”, 10); 10
0%f Mz =9 printf(“%f \n”, 3.14); 3.14
%cC =AE &= printf(““%c \n”’, ‘a’); a
%S cAEE =4 printf(“%s \n”’, “Hello”);  Hello

L (1512 BE S A
W MO HERY oA 1-56
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TR

e v \
printf ( BHH %d o] X 2 %f \n [ etiidi ] [score ]);

N NFA o WA

T2 e &M

2opop it

St| 2329 d &= 3.99
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/I MEXZRE U2 2710 H2| &S A4St &3

#include <stdio.h>

int main(void)

{
int x; /| A H4E MY e
it y; /SR B4 E MBS e
int sum; /1 2702] 4ol B MEE M4
printf("XAHIM XI5 UHSIAL:"); // Y™ AL HIAIX] =&
scanf("%d", &x); /1 StLto| H4-E oA xof] X%
printf"SHM XI5 AHSIAL:"); // Y™ QL HIAIX] =&
scanf("%d", &y); /1 StLto| H4-E oA xof] X%
sum = X +Y; // HE 270 € S},
printf("53=2] € : %d", sum); // sum@| Zt= 10X HE =2
=&
return O; // 0 2|5 2 Hi3t

}
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scanf()

& scanf(): EEUHEKX| (F|IRE)REE 2UHZ 6}7]
¢l 2tojl 22| g

(34 Ao 2R )

[ - scanf(* @@’ , &nur;ber] [ &heighﬂ ); ]
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scanf()e| =&t

¢7|REERE IS BHOFM H=0f X EetC}.
St}

& H0| A (address)E EHR =2

120 FoE BXxOR TE 4 UCh
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SRS

S5 o|n| of
KSR
%d 2 1082 LSS scanf(“%d”, &i);
%f  float &2 &+=2 2ot} scanf(“%f”, &f);
O%lf double 2| &2 A Eetlt. scanf(“%lf”, &d);
%cC SA YEl 2 2 ST, scanf(“%c”, &ch);
%S =AtE Sel2 =8t char s[10]; scanf(“%s”, &s);
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scanf()

& F A X 8xtet Hao XAiRF2 L A[5H0{oF g

oA "ol REY
\\"“\_ 'l_.

v
scanf(%d %%”, &number, &grade);
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Al
=

15
0
d

& float ratio = 0.0;
scanf("%of", &ratio);
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20| B A4 =2

¢ 22| X[ 50| FOo{F = W, HE A4t}
® 9o X = 3.14159 x HIX| 2 x H._XIE

Algorithm AreaOfCircle()

. // input arguments: none

. double radius; // local variable

. double area; // local variable

. Input radius;

. area = 3.14159 * radius * radius;
. printout radius and area;

. end

20| BHX| S
(raV

0| B = qr?

~NOoO Ok, WNBRE
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o HY 2y A AT

/* o] HHZ Aol Z2 U/
#include <stdio.h>

5.0 )’ 5.0[]3.14/@ 7550000
int main(void)
( \
‘float radius; // ¢lo| ¥tX| & = N
float area; // HHA .

radius

printf("X| &S YHSIAK: ");
scanf("%f", &radius);

area

"

area = 3.14 * radius * radius;

printf("&l 2| HA: %f\n", area);

return O;
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Arzgo| St B

, h, area, perimeterg}1l S}X}.

¢ Qo HyrEw
P2 TS NMEE T A= doubleFo 2

& HFO| X2 Y
S} X}.

& area = w*h;

& perimeter = 2*(w+h);

Rectangle

Perimeter p = 2 (/+w)
or
p =2+ 2w

/

IES

Area A = lw
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Ao =8| HA A4t - Pseudo code

Algorithm PerimeterAndAreaOfRectangle()

. area = width * height;

. perimeter = (width + height) * 2.0;

10: printout area and perimeter of rectangle
with width and height;

11: end

1: // input arguments: none

2: double width; // local variable
3: double height; // local variable
4: double area;

5: double perimeter;

6: input width;

7 input height;

8

9:

— C)—‘—OLOﬁ
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Mol Fief HA A4t — Source Coding

/** Perimeter and Area of Rectangle */
#include <stdio.h>

int main(void)

{

double width;
double height;
double area;
double perimeter;

printf(“AFZE 2] St =0[E B =E0otAIL:7);
scanf(“If”, &width);

scanf(“If”, &height);

area = width*height;

perimeter = 2*(width+height);

printf(“= (%lf), =0[(%IH 2! AP ™);
printf(“ & 0[: %lf,", area);

printf(“ =dl: %IfWn", perimeter);

return O;
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Homework 1

1.1 18 E 107X & Cf5to &S +totl, 1 xS ol
2t 2|Z=9| pseudo codeE AH/d5t2}.

1.2 10082| s dS2| X K| = Y=sSta, 718
Q43 M, 713 W2 MY, Ba MEg ot
2t 2|Z=9| pseudo codeE AH/d5t2}.

1.3 AMEXLE B E JH7|S2 B &, &A7|152| £0|&
e, o] J7|S2| MH (volume)d HEHXA
(surface area)& AAtol= =2 18H9] pseudo

code& &H/dgo}leE}.

1.4 2|1.3&H|0j| A &Hd ol pseudo coded] 2} C
Z2 Mo XHdstD, A S capturedtod
source code®} €| H|= 5t}
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